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The figures in the maijjin indicate full marks for the questions

ALLOTMENT OF MARKS
Q. No. 1 carries I miark each (any eight) D 1x8= 8
Q No. 2 cames 2 marks each (any ten) : 2x10 =20
Q. No. 3 caities 3 marks each (any nine) : 3x9 =27
Q. No. 4 carries 5 marks each (any three) 5x3 =15

Tatal = 70
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1. Write very short answers (any eight) : 1x8=8

< 5y T ot (R CICAL SHoBY)

(a) Name the state of matter which has definite volume
but no definite shape. ‘

o S T e TN AR e e R e e
qYRF |

(b) Mention the electrical charge of an electron in cc;ulomb
unit. '

wm@mwmwmwﬁn

(c) Select the atom from the following that releases the
highest energy on addition of an electron to it :

oo T =l AR BE I e <O X o W
Wmﬁ*ﬁﬂﬁﬁ@: | :

F, Cl, Br, I

(d) Define electrovalent bond.
egagcaI® e vice f |

(e) What is state function? Give an example.
SREITS zfam 7 <1 BRI fam

/435

Yot ¥e=1

(i) Volume
(#) Density
KRN

Baver

(v) Internal en eray
ST 1R

(9) State True or False -

(h) Ty
) Find out the oxidation number of C
© o ~ of Cl1
HCIO % C7 sy SRYICBT Sfenegy
- !
/435 ' \
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. . ing compound :
the TUPAC name of the following
, . e \
(i) Write |
C = o -
(swER TUPA:
wars Tl 3 o

: —CHg
__CH—C—CH,—CHy
HaC—CHy CH, o
HaC—CHp CHj

. g
0)

belongs : : W .
7 woe i R ”

o =
o KOH (@) . (p—CH, +HCl

CHy—Cl—  Hs '
HQCF—CHQ—‘ 2

—C=C—H system are
pydrogen atoms of H—Cmt—2
he :
" Zc1d10 Give reason.

I S——
= C — HA T TS AT A T
H—C=b—

. ich is
le of an aromatic hydrocarbon whi
ample
0 le; t?)xbe carcinogenic.

zﬁvvﬁﬁgwwﬁﬁ%mmawﬁﬁrm¢“ﬁﬁﬁm’ﬁﬁﬁaqﬁ‘Gwm

Tg{l
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2. Write short answers (any ten) :

-2X.10a20
. 59 ey o (R CITC =5Y)

(@) Define atomijc mass unit,
hydrogen is 1.6736 ><10"24
' mass unit.

The: mass of an atom of
8. Express this in atomic

1+1=2
m‘rﬁaswmwmﬁm B g TE ©9 g
16736 x107%* g ‘T sirraRe s GFFS 2P 7 |

f electron, broton and
neutron in 1 mole each of 1M and 1

TH W% 3HT aromey 1 TS = g, 2B WF BGR 1o
TRY =41 1

(c) State the postulates of Bohr’s mode] of atoms,
TR Iy WIS SRtz B |

(d) Caleulate the mass of g

plat@ton with wavelength
400 m;n. [Consider, velo'C‘rty

of light = 3x10%.m 57
400nm TS F5 o sy TR em, o
SR = 3x10% m s~
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(e) Arrange the following in increasing order with respect
1x2=2

to the parameter given in the brackets

5N Foore il e AT oo SefgTo TSI
() C, N, O, F (First ionization enthalpy) |
C, N, O, F (ai%% S G
(ii) -Li, Na, K, Cs (Electronegativity)

Li, Na, K, Cs (Rgeaeren)

llowing in decreasing order with respect

(f} Arrange the fo
1x2=2

to the parameter given in the brackets :
TR et il T TP TS AT SIS oM -
(il Oy, O%, O3, 03" (Bond order)

0,, 0%, 07, 03" (I =)

(i) CIF,, BF3, NHi, HyO (Bond angle)
ClF5, BF3, NHI, HyO (3@ 1)

(g) What is intramolecular hydrogen b :
giving an example. gen bond? Explain 113}’ ,
: Y=

wEseRE TRG T I R o Lqm%mmwﬁl
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.' following reactions :

the relati .
constants () K athnshlp betw:
’ () K. and
K" in the

N2 (g)+3H, (o) =
3 2@)+H2(g)-~*§NH3(g) .

2 NH, (o) =< n )
S(g)Y‘NZ(g)','st(g) B
> e
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(k) Balance the- following chemical equation by jon-
electron method..: -
Cry0% +80,(g) = Cr¥*(aa)+ SO% (aq),
' in acidic medium

i g o TS T T AR e

Cr,0% +80,(8) — cr3* (ag) + $05 (aq), T TUHS

(1) Select the elech'ophilés and _nucleophiles from the
following : ' - Yox4=0

WWWWWwﬁWWWW:

+
HO-, H,0, CHs, (CHg)sCCl:

f the species obtained by

e formula and name 0
C—Br bond in

(m) Write th
and heterolytic cleavage of

homolytic
CH3BI‘.
CH,Brd C—Br I8 RO WF RTReERT I SR @R

I SIS AT T T

n) Write the name and sawhorse projection of th‘e two
most stable and most unstable conformers of ethane.

e LS R OIF WbRELT SfRd TR [ A
z'e{ TP | . o

/435

(¢} Describ .
‘Menﬁone oi:th?}‘if'ord*s 0-ray scatterin

major conclusion -drawy i €Xperiment.

om the said

| .

‘ﬂﬁﬁmmwwl

p .

first transit
ansition element Series belong?

SR KT st gy
?ﬁwmm? e
ﬁwm%%?
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(e) Write the number of periodic group of the long form of -
which the element with atomic

" the periodic table to
number 104 belongs. Write the IUPAC systematic
name and symbol of the element. 1+1+1=3
memma@ﬁﬁwmwmiww -
104@mw§v\@ammmcw%ﬂ@ﬂmwﬁﬁml '

' () What is the full form of VSEPR? Write four main
postulates of the VSEPR theory. : 1+2=3

SEPRA T g1 R 7 VSEPR S 01 1 Frd B

(g) Give reasons : 1%ax2=3
1R O

(i) Dipole moment of NF3

NH, % NF59 i o 3 |

is lower than that of NHs.

(i) Heg molecule does not exist.

He, W3 o%% AR

State and explain the Hgssfs law of constant heat
' 2

m ) |
summation. '

@—?@ﬁ@ﬁﬂﬂwmmwww.l
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(1)
(). What is the enthalpy c;ffoi-n:iaﬁon
2 Hy(8)+Oy(g) » 21,0 )
) AHO=-57166 L - -
MR SR A Ry 9 ﬁmwns; - -

2 Hy(g) + Oy(g) — 2H,0 0
AH=-57166 kJ

.of Watéi-? GiVen

reaction at 900 X -

900 Ko R S, S

200 C‘:;I;FI’?(T:‘W SRR 517 0-43 ‘baf-ﬁ@Cb ®
RIS CO, S COT T Wi 5 Nt

. ) C() Z(g) 2.: :.@).; b p : . ‘ .- .
-‘T g 'I‘WO cont i : . . ’ ' | .' ' . | ' . .

solutions are conns
nnectéqd j ~
) t€d Iinternall alt b;
two containers are aiso connecte}é By & salt bridge. The

/435
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er ch:,roméfco graphic

(k) Define Rg¢ 'of a component in a pap
1+2=3

experiment. How is it determined?
ofgefs IR T RIS, Il ToRT Ry3 R Tl | 6 (oS
RfmT=a?

() How is Lassaigne’s filtrate prepared? What is the major
change that occurs in the organic compound during

Lassaigne’s filtrate preparation? 2+1=3

TR RS AT 290 TN W AT e S e
TR B gy RS =@ T

(m) Write the structural formula and name of all the
. possible isomers obtained from butene (C,Hjg). 3

R (C4Hg)T 71 TR IR THRAR S-S SF AN
a1 | : -

- (n) What is Kharaéch effect? How will you utilize it to
convert 2-bromepropane into 1-bromopropane? 1+2=3

AR 2R 7 2-TVLRT 1-3 oM “ReST 7300
@ IR IRAN?

/435

T MRS St PR < ey 3
91 TRE e :
'E“Biim XTI @’@T‘%W TRIF R Sz ;::{:ﬁ 2P

(b) (i) The heat required by 5 g of a metal t ise i
temPeramre from 22 °C to 25 °c is 13’251'3186 ’1ts
out the specific heat of the metal | o Find

G BT 4199 5 g Ty 20 © c
. C3 *"1 25 o .
13:35 J 0 oo 2°21 | 190 wiiesifiee ?ﬁ%%l Lot

(i) Discuss the 'c ses :
onditions § - .
reaction. for sp ontaneity of g

R RIPIR TS0 Somg et o

(i) The changes in- enth
reaction alpy and _entropy of the

4Fe (s)+3 0,(g) — 2Fe;03(s)

at 298K are -16481L%J and -549.4 JI;:-l

respectively. Comment on th
n i
reaction.’ © Sontaneity of the

: 2
/435
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- 4Fe_ (8)+3 Oqa(g) = 2Fe,03(s)

" RRAHS 208 K Sweis urt wF @R wRasT 2
- EAAR <1648 kJ OTF ~549+4 JKL, ﬁﬁw@www
\smﬂwﬁml .

(c} fi) Aﬁaﬁge the following in decreasing order with
respect to acid strength . 1x2=0

W 8o S e ﬁmﬁ 5T T
(1) HBr, HCl, HF, HI

- IZ) CI'LI-’ I'I'F: H2O: NHS

. (i What is buffer solution?
TR R
(uz) Find out the following equation for dissociation of a

‘weak amd
uqﬁ i «qﬁw Reares RIS TS s ﬁ'ﬁmﬁ Sfneqy

a’c
K. =
® 1-a)

© (d) What are carbocahons? How are they
does’ stability of different types of ¢
D1scuss in- detail.

WW%?@%@WW@%

=7 Ry
wmmmwm%-mﬁmmwf“

classified? How
arbocations vary?

1+1+3=5
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